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Duration : 150 Minutes

INSTRUCTIONS TO CANDIDATES

1. Please check the Test Booklet immediately on

opening and ensure that it contains all the 150
multiple choice questions printed on it.

. Separate Optical Mark Reader (OMR) Answer Sheet

Is supplied to you. The OMR Answer Sheet contains
Hall Ticket Number, Paper Code, Bookiet Series,
Venue Code, Signature of the Candidate and
Invigilator etc.

. If there Is any defect In the Question Paper Booklet

or OMR Answer Sheet, please ask the Invigilator
for replacement.

. Since the answer sheets are to be scanned (valued)

with Optical Mark Scanner system, the candidates
have to USE BALL POINT PEN (BLUE/BLACK) ONLY
for filling the relevant blocks in the OMR Sheet
including bubbling the answers. Bubbling with
Pencil/ink Pen/ Gel Pen s not permitted in the
examination.

. The Test Booklet is printed in four (4) Serles, viz.
‘AorBorCorD.The Series AorBorCorDis

printed on the right-hand corner of the cover page
of the Test Booklet. Mark your Test Booklet Series
on side 1 of the OMR Answer Sheet by darkening
g:‘ appropriate circles with Blue/8Black Ball Point

Example to fill up the Booklet Serles :
If your Test Booklet Series Is B, please fill as shown
below :

If you have not marked the Test Booklet Series at
side 1 of the OMR Answer Sheet or marked in a way
that It leads to discrepancy In determining the exact
Test Booklet Series, then, in all such cases, your
Answer Sheet will be Invalldated without any further

. T Sor) BEDS Jokd wotvE'd 150 FHe

. BISrGTEreS 0goSE R (SEEer™ OMR SSRGS

. g Sod’ =D, OMR Mo Sgo &' w0 e
. BErerS Sorod epss S8 b by 5568

. S Sigo Tertd (4) b8bes e A Sor B S

GET IT ON
Google Play

il

Max. Marks : 150
OGReY Jrile

TS uR oN) SO Svdosegdr 86
g 50800504,

SR 30 eHIodocd. eothd” HE (Bl sont,
S35 §5, eB3e5 DOD, iy 56, egi) otsko,
aEBLE Sodso Sowododd Jiscrey Novads
Koo Baronosnd dotron.

&'Deol Tl Srisehodmr aleBulo Susy),

Srorosso JLW. TwY TWPY GY) HTow
(8T7e0039) J03erdd ap/epl end ravods]
iy S G NOTD. DS Bor qow
DXy 8o 88 dXed ool Iabio 8¢
0B oTRED.

C 8o D H8hes® SnBovnd &otnod. 38
EmE@e 535 O dges H& 3PS S Bosed
G000, & HEHD W Krers Mo Gy, ph1-&
ord8 eranosedss geod’ ep /el erd ool

vy ey dodd.
08865 H8H Dot
aor : e85 2o a8 eI DO B wowd o) 00
dsor DorD. |scomer
SERIES
1]
@
®
®
@

OMR S5rgrd S0 aot, 6 1-6' 2 wbae
28%X JonEdons dor oD VoM NGl
DoisERanar essos Febo 35xHoad B Kirers
So Sarergolio DObIaheiHiw,
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scass D | I HIHININNIR
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to make heavy black marks to fill the circle
completely. Make no other stray marks.

e.g. : If the answer for Question No. 1 Is Answer
choice (2), It should be marked as follows:

HON NONO

Mark Paper Code and Hall Ticket No. as given in
the Hall Ticket with Blue/Black Ball Point Pen by
darkening appropriate circles In side 1 of the
OMR Answer Sheet. Incorrect/not encoding will
lead to Invalidation of your Answer Sheet.

Example: If the Paper Code is 40118 and Hall Ticket
No. is 101150000123, fill as shown below :

Hall Ticket Number

0 0|@ 0
1 DD} DIC
OIPIP|DIDIDIGIC
MOIOIC

DO OO D1
NOIOICIGIC MG
(3,[6)6)[C 6
BIE 0,06 8
(0,[0)e)[ ) NG

. S U886 syl S5E6E, 96 S voebosd

GET IT ON
Google Play

Mo LD S3APACTE. T Do Msew
Aobtso md 5o wotlostso md Aaboe,
a0 15 (SHO IITE0 2 wand od) & $08
o oY,

10 @006

SIrTy Sod eyp/epf ovd Howots diod
OMR 3swomr S8 28 1-6 angeds $8db3
T8 Do, LD EIpm Josto Sor wisym
AOSEIBL0 Sy D IIMTH HFo Sarovgosso
Satbercsch.

dor: D35 §'8 40118 8aito B e32eS dowm
101190000123 &ond & Eod om Jo>d,

4

0 0

DG D1
2)12

NOIO|( 3
0)[0] 00T DIE

s NOIG

5 6)|(6

DOI®|®I®I®E|E D] 0] ¢

S DI

(Continued on page no.-31)
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O
99 oo
(1) (2) 3)

(4)
M4 @1 @2 _us

2. If the rectangle represents - private

employees, the triangle represents rural
people, the circle represents doctors and the
Square represents graduates, which of the
following represents rural private employees,
who are graduates ?
&8  WediHo (D3¢ a&shed,
B2h220 (T Pao, S0
SQON, ééag}éo B ATATTA TSRS
AR, 1800 FES” HHHBS (Moe
| D380 AF5008 & ArON0d ?

e s\

3 7{05. 4 p

AL, N,
2 @ 6

@ 7 4 &

3. Which of the following diagram best indicates
the group of ;
Indla, Andhra Pradesh, Telangana
Bod &8 d Je0 zrossio,
BOBDTT, BOOrROL S8

(PSDoDHNA ?
O
0)(00) (00 @0
(1) (2) (3) 4)

M4 @ 1 &2 @4 3

40318 ‘ 4
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ST e wew vww WA T TUGBL WY 6JC)TIE)

- DN DErR) HB00A.

Problem Figures / 5@ Heéren :

® & o0 X ol x xXfo X X[|e x 4
® ¢ 9o|® & ale *® ole o » x o 9
@ 0 sf0 0 ol o ol x x
® ¢ eole . > L L
Answer Flljuml RSP S Héren :
* X X ® X x ¢ X X * X x
X s @ X o 0 X ¢ X||x & x
b ] X @ x ] i
x

,or“ (B) (©) (D)
D @ A @B @c

Find out the right figure from A, B, C and D in
the place of ‘?’ to continue the series.

BN  TI>RosTe 2 Fdod
BOBSOVS TS HEr) A, B, C, D o
~OA HOosoA.

Problem Figures / 350 s Hérex :

XX -

AmworTgum/émm:

XX

L
A B (> ()
(1)(0) y() AC(G)'() B : (4) C
Find out the right figure from A, B, Cand D to
complete the figure given below.
(808 Herd)Sosygo FavardE A, B, C,
D © od OB HerQ) H0050A.
Problem Figure / 55 ¢ H&0 :

s O

ANG
RS
Answer H,ggnclww aeérey :

SIS
A) (B) (C) (D)
D @ A () B (4) C

Series-D
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-1,

\9) wiIsGIpine

_ 1N Uimension
Choose the word which is different from the

rest

(1) Brinjal (2) Cabbage

(3) Cucumber (4) Papaya

Bod o8 Dsjor asy oy
050,

(1) Sosad (2 ssBha

@) &dson Baryom

Find the minimum number of straight lines
required to make the given figure.

(80 @Y Herd) 8oL
SRAROMT AV HEC Bpen s*ad ?

yxr
=@

(2) (3) 14 ,(4-)/16

There are two similar figures given below with
some numbers. Looking at the first figure
carefully, fill the suitable number in the
second figure in place of ‘7",

Do 28 erot8 Heren §I) Jopios
TN & (o8 SFan. I
DETR) ST B0, B DeYoS
W 0% (7)) &#55%% aodlens
QOBIA SDFSoA.

(1) 280 (2) 202 (3) 303

(1) 17 11

(4) 100
Find out the right one in place of '?".

© 7 P08 Gomd)d JSowS 0D

40318

H8osod.
TBLD, VEPI, XHTN. ?

(1), ZKXP YZIVP  (3) ZVUP (4) ZKXS

13.

14,

18.

GET IT ON
Google Play

1808 DS (AN 2r S 590D, T
$o8 ASWAS (HNH  Drodo
orahod. : _
486251473985726315824863

852243498

D (FS’ 2.8 B Jopy (D6 HE TBY
Qops STWEPT ) B Dopgen
AT o0 ?

Ae
Find out which of the letter series follows the
given rule.

Number of letters skipped in between

adjacent letters in the series s In the order of

12,22 32,

(80 a0 VDI ®HRIB0T 8L s

B3 D7

(Sorr 12, 22, 32, --- e§ o |O¥DE;

VE0® DG o8 SDYoTD.

(1) EGLV (2) ACKR

(3) DFLO (4) KMUZ

How many dots are there on the dice face

opposite the one with four dots 7

1808 JOES' 4 HF)O% IS ALY

800 AT 0N ? '
L3

@1 @2 (@4

°
% * i

M6 @ 3 @as ufz
Two positions of a dice are shown below.

When six is at the bottom, what number will
be at the top ?

Ooth g’ &) a8 JOE (808
A DA0H. 6 (808 B3I S DN
@odnod ?

(i) (i)
@ 1 (@92

—~1)5 @yra”

Serles-D

s,
"
] e
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17.

330

18.

18,

A~ Violet

40318

2 386
(3) 32 (4) 24

How many squares are there in the following
figure ?

(808 H&ods* A3y :5&653-00 S0y ?

(1) 38 (3) 24

4) 32

In  certain coding method, the word
QUESTION is encoded as RTGQWFSY,
what is the code word for the word
RESPONSE ?

8 S'AON HPBS QUESTION e DR
RTGAWFSY r 86 TN, RESPONSE e
AT der 8 T 7

(1) SUDRNKAW (2) SUDKNRAW
(3) SDVNKRWA A4 "SDUNRKWA

From the four positions of a dice given below,
find the colour which is Opposite to yellow.
808 20N 2.8 30 A, reih
FTOD 550D yellow  Sothgy
S5BTEOM™ &) S DA 2

‘eliow, Bive Red

mé vioet | & Red 'f

> Rose | =

(2) Red
(4) Rose

In certain coding method, the word HRDP is
encoded as XHTF. What is the code word for
the word LVHW 2 '
w8 86 706" HRDP D XHTF r &% 3,
LVHW R D ddor 8 Iresh 7

(1) - YLMX () YMXL

(3) BLXM 4) BMLX

(3) Biue

-

23,

GET IT ON
Google Play

2% B35S 5B 476" op eop acp fop’

o ‘§8) a8 )5S o', ® “op cop

bop gop’ @0%) '2n8) S5 IAS Brands’

®©:, ‘acp dop uop gop' eoT) ‘a§8)

T8 Ao a8y e, ‘cop jop eop uop’

@0 '‘BAOK Srgh 3 58 erly’ sond o

RS W) 65 BAcK erty ®oh)
~#)" ‘aop bop eop uop’

(2) 'bop cop uop eop’

(3) 'lop gop eop uop’

(4) ‘oup cop lop acp'

Read the following statements carefully and

choose the right conclusion -

Statements ;

() Al scholars are observers. @
(I) Some boys are scholars.

Conciusions ;

(1) Some scholars are not observers,
(2) All'scholars are boys.

3) . Some boys are observers.

(4) Allabservers are boys.

(808 BDIS BSOS DA BN

NFTERR EOFS0A ?

- DSSaven

() HOFGHOOSEr HOYHen,

(i) FosHod arenth H8%%e.

AT Boen :

(1) S08508 H05%50en 56%0%en sy,
(@) DOTEHe0SEr 2rends.

A ToS83060 zrendh 50%e8en,

(4) DOFOKLOBEr arends,

in a particular code language @ means
‘greater than’, # means ‘legs than', $ means
‘not equal to’ and % means ‘equal to’, It is
given that Q@P, 3P% 2Q, Q$R, and Q%3R,
then

28 6 70" @ wo® > ¢ ®o%

$ 00« % wot =, ,

Q@P, 3P% 2Q, Q$R, Q% 3R oS

(1) 2P$4R 2 RepP

(3) P#2R (4) 2R%P

Series D

-
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. D gets down at the station next to the station
at which F gets down.

. G gets in at Erragadda and gets down with C
after having passed one station.

. A travels between only two consecutive
stations and gets down at Moosapet.

a B and D work in the same office and they get
down at Erragadda,

© None of them gets In at ESI Hospital.

» Both C and F get in at the first station after
the base station.

o E gets In with two others and gets down alone
at the station next to the station at which D
gets down.

. None of them gets down at S.R.Nagar.

24 - 28 : (808 JSroror) 2;HST SBD,

- R 08 &) (H¥ o dSrpard s0l.

@, D0 0,3 0 B eI 7008 SiHHen (HS

o D% 28 pend® (Hosirmo I, o

Ben BD PASS' 20HenT0 I0.eb.555,

BIVD TFVIOD, B, ESIHE, Sararéy

o 5 PSS wibebod, '
T s SHen B PasSS ped
Q50,8 .

o OD ONS PAS SHrs PASS A

Otbesdho.
S BABAG RASS' 8. 2.8 YPAS S
$Hared DE' EO b,
"o DOM (DNDHS A0T PASe 2
(DTS, Srarhad A,

. D, A aP8r ¥ epS HATSr
ASHGS' Arvar.

v B0 RIS PASS DSGr 250.

¢ D M FDH PAS sard 3T
0LAEGE DASS' oy

o 2 08 A0S SO D A8, A OIS
DAS SB>S PASS 2.8, Ahverc,

o NGB I8 PASS’ IS AESD.

40318 7

27.

-~ f

4

GET IT ON
Google Play

At which station does G gets down ?

(1) BharatNagar (2) S.R.Nagar
(3) Moosapet (4) Erragadda
&, D VBSS' Btberdsy ?

(1) 68358 2) Db SKE
(@) VDO (@) GG

E gets down, how many stations after F gets
down ?

(1) Four (2) One

(3) Two (4) Three

AP OIS Shard 5N PASS 2
e ?

(1) 48 (@) 1

(3) 23 @ 3%

At which station does E gets down ?
(1) Data inadequata.

(2) ESI Hospital

(3) Erragadda

(4) Bharat Nagar

R D RASS AvEs ?
(1) @I DS

(2) BIVD F*Vy0S
(3) AG6HG
(4) 258 568

At which station does A gets in ?
(1) Bharat Nagar

(2) S.R.Nagar

(3) ESI Hospital

(4) Erragadda

D, @ PASS' 28T ?

(1) 8868

(2) dN.eB. 318

(3) AP LS

@) o6

Series-D


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417]

31.

/zy/:acs&é

©o82.

4 6km

40318

If6x 8 =10 and 8 x 8 =V 145, then what is
the value of 9 x 40 ?

B x 8 =10 8%

8 x 9.= V145 &0V, 9 x 40 DeNS O ?
41 (2) V197

(3) 40 (4) 31

A river flows from west to east and on the way
turns left and flows some distance, then goes
in a semi circle around a temple, and finally
turns left in right angles. In which direction is
the river finally flowing ?

(1) South (2) East
(3) Woest (4) North
a8 SO DBNE Hod Erd) I
DSBS, & (Hoireod’
SH% S8R Fod A&rS0 |DATBODS
SHTS, eF HA D&Y ed SyTsSosS
(DOFB0D), DIGT ©o2Fnos B
BN BBN0H DI I8 ow‘
(DTN ?
(1) &S8=o (2) &rdd)

(4) &dso

Starting from a point a person walks 1 km to
east, then he turns to the south and walks for

S5 km, Next. hetumseaslandwalkszkm/

After this he tums to the north and walks for
9 km. How far is he from his starting point ?
28 |58¥0 Hod 2cHendd 2 I8
S8 A4S’ 1 km SBDS e, SE o
S A0 5 82, SATTH. & SHTS
OSD SN ) IS SON 2 km AT, &8
SHTrd wddH edlo JHE A 9 km
ROTW. D XD 20HENTTOS
S0 0D o &rdods darydhy ?

(2) 3km-

(3) 4km (4) 5km

GET IT ON
Google Play

(3) 280l (Duibese)
(@) DAS (Swep)

Find the odd one from the following :
1808 o8 DS0m dod DO ?
(1) PRUY (@) MORV
(3) HIMQ (4) RTWZ

In a lake, thare are 10 steps labelled using
numbers from 1 to 10. Starting from step 1,
every minute a frog jumps 10 the fourth step
from where It started i.e. 5 and from 5 it would
go to the step 9 and from 9 it would go to 3
efc. Where would the frog be at the 0"
minute if it starts from 1 ?

2.8 ToHS' 1 $ ©03 HHod 1085 eo8
530 HB0DHDBS 10 e Eosd. 2.8 §H)
D8 QAVE d &S) Dotp SHod
TP DAY  DE Ardehod.
AOrORH 1 HOA 55 WEPS, 5 Hod
955 EPS, 9 oA 35 WeYPS Srsoerod.
105 TP HOG Fwcden DAB @ §0) 6085

A DRSS’ DSy Dot s dosnod ?

(1) 8 @ 1

(4) o

If '’ means +, ‘g’ meane —, ‘¥ means x, .
means +, what is the value of
115q216p87r168s12p406g258 7

p @0 + ®d, g WO - ¥, r wodh
x 893, 8 @O + O,

115q216p87r168s12p406G258 Dend DO ?
(1) =572 (2771265 (3) -486 (4) 543

Which word doas NOT belong with the others
(1) Jowar (2) Wheat

(3) Mustard (4) Paddy

(808 o8S* DSYor &S) O DB ?

(1) &) @) B

A3)” BN 4) 0 e

A Serles-I{

s
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@) |1

®ioodH HEDHo  Ar8)SLHond,
BB oA 85 S0 O ?

(10 s ﬂn

‘ﬂ\&lGV W\)w =

Pramod walks 4 km from office, tums right
and walks 3 km, then he turns left and walks
8 km. Again tumng left and walke for 3 km, At
the end, he notices that he is facing towards
west. In which direction was the office from
the present place 7 ~

(1) South (2) East

(3) West (4) North

OIS S EPD oS 4 £, SAD,
50038 860 3 8.2, A, ST 5 A5
D68 388 8 85, SAD HP B 3D
BON 3 L. JIATH. DIGK ©SH
DG OFK JNB™ A9 KON,

DS FS0 0B S B » OIS’
BoH ?

(1) S0 [e)/éa-d:g

(3) BN (4) a:}cso

inA B C,D, ..XY,Z(26 letters series)
which Is the 8™ letter to the left of 8™ letter
from the right end ?

AB,CD,....X Y, 2 (26 0§00 |550) &
28 D38 Hod 95 wEoNE ddD

1982 &) 65 ®F B0 B ?

() M 2) J

3 K L
!

42.

GET IT ON
Google Play

Find out the next number in the following
series :
Sod Lieﬁé‘ S HoWIN EDFS0.
45678912, 5678912, 567891, ?
1) 678012 (2) 56789
(3) 67801 (4) 667892

What is the missing number in the following 7

1808 (FAS’ 3D Jops & ?
300, 2986, 287, 271, 7, 21?

(1) 248 (2) 244 (3) 246 (4) 250

What is the wrong number in the series ?
1808 FAS' Sy &) Hops O 7
28, B4, 112, 196, 308, 504, 872

(1) 872 (2) 84 (3) 308 (4) 504

If A+ B means A is the mother of B, A x B
means A is the husband of B and A + B
means A is the daughter of B. In the
expression Y x Q + Z + K, what is the relation
betweenZand Y ?

(1) Zls the father-in-law of Y.

(2) Zisthe fatherof Y.

(3) Zie the mother-in-law of Y.

(4) Zlisthe hter of Y.,
& + D ©oH O, &, ) x D wo®

‘ Q.@O&DSZ, 36, & £ D wodh ), D gy
Brsod wond, P v g+ 28+ 35
288 38 2085 &9 HD020H0 O ?

(1) 28, 8 BoE), &Sred

(2) 28, 3 s, S0

@ 25, 3 JwE) o
a8, B Tk Hodrd

Find out the next number In the following
series :

1808 I3S’ SSare HoPIR SIS0
0,2,3,4,8,8,15,14,7

(1) 28 (2) 28

3) 22 (24
(3) . e
s_eml-D
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a8,

11

10
(3) 22-1-; min. past 10

9
(4) 21 1—1 min. past 10

10 0. 11 Ko.0> g KBTS0’ Botkh
Swepexr MBdotsivoar 2.8 H8¢ Bpd*
DI FOLFON ?

(1) 10Mo&e 21 %g' -

(2) 10 fobre> 22 2 )

1

(38 10 nomozz-}g Q.
/(4)/10 oo 21 2 )
-

What was the day of the week on 8™ October,
2004 7

(1) Saturday (2 Monday

(3) Wednesday  (4) Friday

8 ©F 0, 2004 D 50 ©aNos ?
(1) #dado 2) FSardo

AT angarso @) dE>So

The calendar for the year 2018 will be the
same for which of the following year 7

2018 oSS 50 SEBoNd, & (800
SBS'  JoIS)B0 SEBoBbA FO
A0OS ?

(1) 2031 (2) 2023

A8 2020 (4) 2030
40318 :

10

51.

GET IT ON
Google Play

SHTS 6D &5 A% BHE% B8A
5 km (DABoN0d. 28 ol &8
20838 e se)) Ardo o ? of

4y 13km @ 17km I
(3) 7km 4) 23km . . ﬁ\ﬁ‘(

Y
The angle between the minute hand and the
hour hand of a clock when the time is 5.25 Is:

(1) 125 Degrees  (2) 11 Degrees

(8) 115Degrees  (4) 125 Degrees

5 fobe 25 DO  Hohod
BACKrE0S'D fHote SHWE, AMare
SDENH 0658 F'e00 Does ?

) 12% Afie» (@ 11-15 Alfen

@ Mg afe (@) 12} Alen

Introducing a person, a lady said, *He Is the
son of the brother of mother of my father.*
How Is the person related to the lady ?

(1) Uncle (2) Brother

(3) Cousin (4) Nephew

28 5580 DOWAHo T 2.8 HA Y &
QPO TDYOA. “ASSD JF S0\ TnE;
S FOHA TR, & 558 8 DK
DedYBreh 7

(1) eohd (2) FSS
/gyé.s T(d) sench
Series.D
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S A0ASHYT'L O 7.500 200 ONOA.
38 Bed 8% DoOE &, 10,000 @I 3

D05830°S" Do TS0 ®HH0A ?
(1) &~15400  (2) & 14,500
(3) 6r.15000  (4) & 15200

The difference between simple and
compound intarests compounded annually
on a certain sum of meney for 2 years at 6%

per annum Is T 36. What is the sum ?

Fod B2 Dot D05 oK 6% &
Bend' 35¢ 5§, SEsde Fdo T 36
©onS, ¢ B21) Do ?

(1) T 12,000 (2) 8,000

(8) ¢9,000 (4) T10,000

Speed of river Is 8 km/hr and speed of a
motorboat In still water Is 32 km/hr. How

much distance can It cover downstream in 40
minutes ?

S8 Fno 8 Sdusrody HOAH DS
dBS' D8HAS IMo 32 &2 /Mo
wond (HE Fnd 40 xS
8 DAS DO BrE0 oS ?

(1) 255 kv 8. (2) 262 kv 8,

iy sy, (o 252 kv ah,

40318

A vessel is filled with liquid, 3 parts of which
are water and 5 parts syrup. How much of the
mixture must be drawn off and replaced with
water so that the mixture may be half water
and half syrup ?

2.8 PSS (B508" 3 Sodhen D,
5 Sohen DD @#0d. J&$S'0D
H8Sreod’ (GBS0 Sohod, d Fréos
B AoDE, ID)S MFDoeS BKo HX,
Do DEDM™ AoLrow ?

mg @3 @F © 3

(m/ 240 D0.5»2
(3) 480 0.2

11
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DTEIO DOk ?
(@) 230 o2

(4) 480 0.2 o
a

If height of a cylinder is 50 cm and radius is

14 cm, what ig the volume of it 7 A
(1) 33,800cm? (2) 30,800 cm*® *
(3) 32,800 cm?® (4) 31,800 cm?®

28 PrO0 TE) S 50 V0., TG0
14 0. ®od TR NS H0SrR0
O ?

(1) 33,800 RO.2D2 (2) 30,800 2O.?
(3) 32,800 VO.DF (4) 31,800 RO.?

If area of a square shaped plot is 18,225
square metres, what Is the length of diagonal
of the plot (approx.) ?

(1) 225m (2) 180m

(3) 135m (4) 125m
DSRGTE0S" &) 28 Pen Brego
18,226 w930y WOD oS, & Jen
/¥, G0 FSToS (o) ?

(1) 225 Hexd ) 1980 D&

(3) 13586 4y 125 e

There are 40 people in a group. If all shake
hands with one another, how many
handshakes are possible ?

2.8 SJrIrocs 40 2008 S¥en vy .
D8 258 B8 2508 Sorodo
IR Ado ) Tomen S0
©ITOD ?
1) (2) 390
ap =

’ Series-D
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(3) 4 hours (4) 4.5 hours

®, D, D O MEren 2.8 ergoss Jodards
®OotrenS’ AaTon. ©  ErgofR
D 15 5o&s, D 10 Ko’ doHysrow.
@ O o Bodr ¥DD e drjofd
oJEVE & JDHAVO D' @ ErgoHd
NOITAE I IBHArDE  BSFSO.
Ardd MPen 5O @ erjod
ROVTNE N0 DDONO DO ?

(1) 6 Koéren (2) 3K0&en

(3) 4foten (4) 4.5 oo

Anil can complete a-work in 15 days by
working 8 hours per day. Sanjay can
complete the same work In 25 days by
working 6 hours per day. If both of them work
together 8 hours each per day, in how many
days the work will be completed ?

(1) 635 days  (2) 6% days
() 755 days  (4) 759 days

©JS P8 8 ot SHIS HOTIL 2.8
S 16 S’ 10 Wk, o7 50D
Joadd Farkh 6 Hobe Y HATD
25 Ford’ 38 TXW. FOQEr T
8 Hod® "I DD HATH & HD
FESrRE I Faven HhoS0d ?

(1) 63 Bven (2 61 Swven

(3) 7% Seren

) 72 Seren
AandBcanooﬁ\pleteaworkanOdays.B
and C can complete it in 80 days, C and A
can complete the same work in 120 days. In
how many days, B alone can do that work ?
S, D e 2.8 B 80 Fd' 38 I K.
o7 HSA D, D e 80 Frd D, D
120 ForQ’ 30 TP, © HAJ D 2.8, 8
A Card' O WM 7

(1) 98 (2 80 (3) 82 (4) o4
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@ 100 min, @) 44 min,
Srdurenr SAT Jods 2 S Sos

Jtiod’ SAN ©od), 208 08 abhing
BEFOS 20 Aaren 80 Hheod.
RO S 2083 Hod edhd®

FETRE D0 HDDOHO DEOA ?
(1) 90 dAaren  (2) 120 daren
(3) 100 Daxren  (4) 44 dared

Train A leaves Secunderabad station at 6 AM
with a speed of 60 kmph towards
Visakhapatnam. Another Train B leaves
Secunderabad station at 8 AM with a speed
of 80 kmph towards Visakhapatnam. How
many kllometres from Visakhapatnam will
traine oross each other, if the distance
between Secunderabad and Visakhapatnam
Is 800 km ?

(1) 375km (2) 225 km

(3) 360 km (4) 240 km

D O3 Do AadahHo 8 HoLe®H
VoS PAS OB IPPHaT DS
60 §.20./10¢ Jrod’ 2aHeNBO0B. HTE
Ben D &dsaho 8 Kohos diorerd
VIS 208 TpHEM D8 90 8.5 /K0
Fn08 cHenBSé0d. HomarSLy
ATRIEMAE DYy &rSo 800 &4
®B, ITPHEMAE Jod Ersoss
Bodd Beoy 2.8 D SHBES réveran ?

(1) 375 8. (2) 22585
(3) 380 8.5. (4) 240 8.3
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A'sShare _ B's Share _ c'sshare _

S08, WAL BB 4 : 5 JH)VS
AT 00, BPOE &7 40,000 TS 2o
RONS SO>S 8 e DNYB 5: 6
BANOY, AS0 DONN ST DS
TI0EY 1D B30 Do ?

(1) &r.252000 (2) & 1,80,000
() &r2,18000 (4) & 2,40,000

Azeez bought a scooter for some amount an&
spent 20% of It for repairs. After the repalirs,
he sold it for 30% profit. In the process Azeez
made ¥ 3,600 as profit, what was the amount
spent on repairs ? i

o o8 Il Tod JnwRs £,
AR 20% ODFH PEY DEFW. FHS
®oNS dHTS o) 30% erprdd
o8, odTH T 3800 erdo SV,
A8 ODEE BONS PE) DO ?

(1) 2,700 (2) T1,800

(3) ¥2,000 (4) Y2400

An Amount was distributed among A, B, C
and D In the following manner and B's share
Is T 1,600. What Is the share of D ?

40318

B's Share  C's Share D's Share

(1) 3,200 (2) €2,000

(3) ¥2,500 (4) ¥3,000

S0d TV ), D, B, & e (80 A
95°60 Dothshod O arerm &r 1,600
S8 ey o ?

AT Dodr JDoer 4
Dyer“"doer=Aer"56
(1) &~ 3,200 (2) & 2,000
(3) & 2,500 (4) & 3,000

4
5

13
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20 82§ 378 Iy ?

(1) 28 (2 25 (38) 26 (4) 27

In a monthly electricity bill, some part is fixed
and other part is calculated based on the
actual consumption of power per unit price. In
a particular month for 500 units, the total
electricity bill was T 2,000 and in another
month for 650 units, the total bill was ¥ 2,450.
What will be the electricity bill, if the power

consumption Is 725 units ?
(1) T2,800 (2) 2675
(3) ¥2850 (4) 22,700

JO0 DS DS’ Toeh Jwsso
oorrsr, A aQsSor
DOTrACDN DWW arReS &6
RS HAFD. 28 QY Jos* s00
CrRE) AAJrrAE Sr 2,000, LB
SoS’ 650 CArdE) DARTAE &7, 2,450
Dy ID0B. 726 IO DS

AVITRE 0 Dy S)0d 7
(1) &r.2,800 (2) &».2875
(3) &o2,650 (4) & 2,700

Anand, Bharath, Manas and Prakash have
Invested in the ratio of 4:7:9:5 In a business.
Anand stayed in the business for 8 months,
Bharath stayed for 8 months, Manas stayed
for © months and Prakash stayed for 12
montha. If the total profit eamed Is T 43,000,
what Is the difference between the shares of
profits of Anand and Prakash ?

(1) ¥5800 (2) 5,000

(3) ¥5,200 (4) T5400

@008, FO&, Irdd, WPWehen 28
T>rE0S 4:7:9: 5 388 DeYad
WP, 8 FrS0S’ es08 8 Teoey,
P08 6 Jow, ArSd 8 Joew, |HSDH
12 SO 3" A, J0eo SN erdso
& 43,000 ®00d, 8d08, (HSRL e

e 058 2350 Doed 7
(1) & 5,800 (2) & 5,000
(3) &> 5,200 (4) & 5,400
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2.8 D0 ) o8 2 DD, FF*do
08 3 AJIQ & NS0 % 89508,
O30 DA 1 SVJD TS 530DB &
D20 I 0900, 6 NS0 Tk ©F,
Soren Fndo Joes ?

(1) 13 . (2 10
8 1 4 12

Difference of the current ages of father and
son Is 30 years. 10 years ago, the product of
their ages was 400, what will be the age of
the father after 8 years ?

(1) S53years (2) 68 years

(3) 58 years (4) B3 years

a8 S04 Fse DS Sohdve BSo
30 Q0SS YOe, 10 doSeéyore (§0 8
She ©PO 400 wond, 8 JoSs oo
S$Sared S0|A S0HND Do ?

(1) 530010y (2) 68 dowren

(38) 58J0ICcen (4) 63 NHoworew

In a garden there are 33,856 trees and
number of rows of trees is equal to number of
columns of trees. How many rows of trees are
there In the garden ?

33,856 T Ko 2.8 S'OS' el SHdew,
QAeDS SHOOH JArS0 wod, @
SoHS Iy e $&HH dRryow ?

(1) 184 (2) 174 (3) 176 (4) 188

The average of 9 numbers is 23, Average of
first two numbers is 25 and the average of
next three numbers Is 17. If the average of
6™, 7" and 8" numbers Is 2 more than the 8"
number, what is 8™ number ?

9 DO L e 23. Jces Bodb dopge
DD 25, SIS St Do Hrew
17.6 85,7 &, 8 & Doge Hifew, 9 S Hogg
$0%) 2 D80, 38, 9 S Dopg does ?

(1) 25 (2022 (3 23 4 24

14
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voters list ?
AQH SsHen e TDS a8 VIS
12% 08 4.6 4» JoHB&. FBS
4OS" 15% 4,40 TOBX. 10% 4.6 ‘S
8 Jgrow. MADS 4.4S' 80% 2.0 od,
2,640 260 Derdds 2585 AOD, @
L% 2DSS dod Hod L
AR5 ?

(1) 28,000
(3) 24,000

(2) 20.000
(4) 26,400

If 6(*~?) = 216 and 6*+?) =7,778, what is
the value of b ?

6(@-b) = 216, 6(@*2) 27,778 wowd b
QIDE) DS O ?
(1 1 (@ 4

¥ 3 @2

Krishnaiah gave 30% of his retirement
benefits to his wife. From the remalning
amount he distributed 20% each to his 2
children. From the remaining, 50% of the
amount he donated to a school. If the final

balance left with him is T 42,000, what was

his total amount of retirement benefits ?

(1) ¥2,20,000 (2) T1,80,000

(3) ¥€2,00,000 (4) T2,10,000
Sonads &8 A8y dSHedh

DODOBOD SDS IS’ 30% wéd
O A, ADS ool 20%
SRS S5 [PD DQOK Howrdh. o5
WADS o, 50% 28 ISTOH TWo
Trd. IS S$& UG S 42,000
DAOE, £yg0H; g @&l DB

NOROHON) VIS Jdo doe ?
(1) &.220,000 (2) & 1,80,000
(3) &5.2,00,000

(4) &2,10,000
’ Series-D
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(1) 250
(3) 208

(@) 232
(4) 202

A, B and C are running in same direction
around a cireular playground and all the three
are started from same point. If A, B and C
complete one round of running in 42, 68 and
128 seconds respectively, when do they meet
again at the starting point 7

(1) After 72 Minutes 24 Seconds

(2) After 70 Minutes 24 Seconds

(3) After 71 Minutes 26 Seconds

(4) After 71 Minutes 24 Seconds

2,0, D w28 OFS' Symesy e Hoo
& 2,80, ¥ o Hod HBRSE0
B8oDondh. 28 DKL o, D,
0 O (Ehomr 42, 68, 126 DED HAS
T Sofer 20O Hood® HP
D08 JHOHO S&Kares Een&H 7

(1) 720.24 . $SHa>res

(@) 700.24 . SHared

(B) 71.28 . Sarss

@) 710.24 . Sarss

What s the value of 55, 84,328 x125 7

56, 64,328 x125 e Do ?
(1) 69,55,42,000 (2) 68,55,41,000
(3) 69,54,41,000 (4) 69,55,41,000

(286+796)%-(286~796)2
286 X 796
(286+796)*~(286-796)2

286 X796
(1) 2,164
(3) 810

=0 7
(2) 1,082

271

1.
asd @n) ek
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villages will be equal ?

2010 DS 808" A ©F (S e
72,000, B @73 (s 273727 64,000 1 4o,
A D 25" H05¢8 Y08 300 I8
P& H0d. B T Saer ENTOINT RTo ]
200 SRS DS dod. Y
VoSS 80S" Bodky  (rare a2
DS S0 wayErow ?

(1) 2027 (2) 2024 (38) 2025 (4) 2026

4l B >4
lfy +3 = 3, whatis the value of =1
x ¥ i 2y
yt:=3 oo.u!,sx WD DO ?

4 16
M 33 @ 37
5 3
@ 75 4 35

3 1
Aftoraddlngsmdsubtracungsfroma

fraction the new fraction h;. What was the
initlal fraction ?
28 Dy 08 g D 80, 2 o SasY

;é'.e@&_yo&)&?

(1) 105 @ 1=
®) g @ %

Which of the following fractions sequence is
In descending order ?

S0 oUS' D DIFIS w38
ESos aod ?

- e e e

7°9’5’7’2’¢g 7'2'7'8'9%g
$31142 531421

(3) 7,5‘2,8‘9’7 (‘) 7’5'2’9.7’8
Series-D
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Wil UL WWuyg,

C. During day time, we keep on eating and
munching after every 3-4 hours.

D. People often ask as to why breakfast is
important.

E. But the duration between dinner and
breakfast is pretty long, sometimes may
be equivalant to a fast.

F. The answer lies in the word ‘breakfast’
itself.

(1) CDBEFA «2r  DFBCEA

(3) DBEFCA (4) CBEFDA

Find out the proper'sequence of the following

sentences to form a meaningful paragraph.

A. That no amount of policing can solve the
Issue.

B. The fact that the stadlum was not full and
that touts outside were having a field day
shows

C. Itis odd that large sections of the media
did not report the black market In tickets
during the Royal Challengers

D. Bangalore-Chennai Super Kings IPL
match in Bengaluru,

E. Something that should have been taken
seriously.

(1) CADEB

BEA

(2) CEDBA
(4) CDEBA

Find out the proper sequence of the following

sentences to form a meaningful paragraph.

A. The percentage of population below
poverty line has been decreasing.

B. Therefors, it is a welcome sign, but we
must guard againat our sscalating rate of
population growth.

C. Poverty alleviation Is one of the most
significant programmes.

Although this change Is slow and
gradual, It appears to be consistent.

E. The extent of success of this programme
can be sensed when we study the
proportion of people below poverty line.

(1) ~ABDCE (2) EDBCA
CBDEA (4) CDBEA

16

o1,

(1) FBCAED
/(a{ CFBEAD

GET IT ON
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This trend should be a wake-up call for
stakeholders to examine  why
employees are seeking betler
opportunities with private companies in
india and abroad.

Public Sector Enterprises (PSEs) have
been experiencing severe challenges in

attracting, motivating and retaining their

key staff.

Having identified these as the reasons
why employees leave PSEs, it Is
Important to empower stakeholders to
find ways to remedy the situation.

One reason is that young employees
lured away by private fims are more
willing to undertake professional risks.
Employees in specialist roles especially
have become Increasingly difficult to
retain,

(2) CBEFAD
(4) FCBAED

Find out the proper sequence of the following
sentences to form a meaningful paragraph.

A

nmo

(1) EDCBFA
(3) ABDFEC

Japanese toys, for Instance, are in great
demand despite the heavy import duty.
The toys that they produce are, almost
without exception, of inferior quality.

Their manufacturers hers need to be
reminded of this.

But making them is no child's play.
Toys are meant for children.

Not surprisingly, many parents prefer 1o
buy the Imported variety even though
these are usually much more expensive.

(2) ADBCEF
/«1 ECBFAD

Series-D
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mid-level professionals who couldn't
remain relevant via constant reskilling.
The landscape of the $150-billion IT
sector, one of India's largest job-
providers, Is changing fast, owing to
technological advances in automation
and robotics.

But it is gradually moving away from the
linear growth model, with rise in revenue
matching net employee addition, to a
non-linear one whera income growth g
Independent of additional hiring.

CADB (2) CDBA

(3) ABDC (4) BADC

Find out the proper sequence of the following
sentences to form a meaningful paragraph.
A. By this measure, a poor Indian farmer
with littie debt and little assets can end
up “richer” than a Wall Street banker with
little assets and a large student loan,

In 2015, when the report was lsgued,
there was criticism of the report's
methodology.

In India, ae per that roport, things are Just
as plain, as against the richest 1% of
Indians hoid as much wealith as that held
by 58% of the Indian population.

The critics argued that the report
assumes wealth Is assets minus debt,
From a released report by
Oxfam, the global charity organisation,
we leamn that eight rich people own as
much wealth as half the world's
population In 2018, ‘
These statistical Issues aside, what the
Oxfam report does show Isn't
necessarily who Is really poor in the
world but that wealth is a good proxy for
the abllity to Influence politics via

DI

legislation or campaign contributions,
(1) EBDAFC (2" BECDAF
(3) BEDAFC (4) EDBFAC
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INK Of such projects,

It should be made mandatory to have
rumble strips or spaad bumps on either
side of such crossings.

In order to minimise accidents,

Powerful blink lights and loud hooters
that can be activated |ust betore a train
crosses should be thought of,

(1) ADCEB (2) AEBDC

(3) DECBA w ADBCE

Find out the proper sequence of the following

sentences to form a meaningful paragraph.

A. The Centre has since issued rules for
conservation and management, and
chosen 115 water bodies in 24 Statoe for
protection support, but this is obviously
too little.

D.
E

Loss of natural wetlands is an ongoing

catastréphe in India.

A decade ago, when the Salim All

Centre for Ornithology and Natural

History released a conservation atlae for

all States using space applications.

Moreover, research studies show that

the concentration of heavy metals in

such sites is leading to bioaccumulation,

thus entering the plants and animals that

ultimately form part of people’s food.

It reported the traglc fact that 38% of

wetlands had already been lost

nationally; and ehockingly, In some
only 12% survived.

{4y CABED (2) BECAD

(3) BCEAD (4) CBADE

Find out the proper sequence of the following

sentences to form a meaningful paragraph.

A. Bolder Isn't always better, however.

B. Red, orange and purple are vibrant

colours with energising effects to

counter the blues.

The eye must catch it, look at it and

study It.

Too much colour can be overwheiming

to some people.

8o, if not the change of paints, go for a

bright-coloured table-cloth Instead.

ABDEC (2) ABCED

BACED (4) BECAD

Series-D
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movement is wrong. Gandhi represented that
movement and the Indian masses in relation to that

movement to a supreme degree, and he became the
voice of Indian" pecple to that extent. The main
contribution of Gandhi to India and the Indian masses
has been through the powerful movements which he
launched through the National Congress. Through
nation-wide action he sought to mould the millions,
and largely succeeded In doing so, and changing
them from a demoralised, timid and hopeless mass,
bullied and crushed by every dominant interest, and
incapable of resistance, into a people with self-respect
and self-rellance, resisting tyranny, and capable of
united action and sacrifice for a larger cause.
Gandhi made people think of political and economic
Issues and every village and every bazaar hummed
with argument and debate on the new Iideas and
hopes that filled the people. That" was an amazing
change. The time was ripe for it, of
course, and circumstances and world conditions
worked for this change. But a great leader is
necessary to take advantage of clrcumstances and
conditions. Gandhi was that leader, and he released
many of the bonds that imprisoned and disabled our
minds, and none of us who experienced it can ever
forget that great feeling of reigase and exhilaration
that came over the Indian people.
Gandhl has played a revolutionary role in India of the
greatest importance because he knew how to make
the most of the objective conditions and could reach
the heart of the masses, while groups with a more
advanced HooloW‘TuncﬂorﬁaT‘ argely in the air
bécausa thay did not fit In with those hose conditions and
mmore not evoke any substantial response
from the masses. It is perfectly true that Ganchi,
functioning in the nationalist plane, “does n not th think in
terms of the conflict of classes, and tries to compose
thelr differences. But the action he has indulged and

taught “the peoplo ‘has _inevitably ral mass
consclousness tremendously and r soclal issues

vital. Gandhl @nd the Congress must be judged by the

policies they on they Indulge in.
But bohlndmi 8, personality counts and colours

policles and actlvlties In the case case of very excepﬂonal

——
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97. To consider the nationalist movement or to

criticise it as a working-class movement was
wrong because it was a

A+ movement represented by Gandhi

(2) historical movement
(3) voice of the Indian pecple
(4) bourgeois movement

Gandhi played a revolutionary role in Indla
because he could

(1) lead the Indian National Congress
(2) preach morality

/wf reach the heart of Indians

(4) see the conflict of classes

Groups with advanced ideology functioned in
the air as they did not fit in with

(1) the differences among masses
(2) objective conditions of masses

_{3r the Gandhlan ideclogy

(4) the class consciousnass of the people

100. Which one of the following is true of the given

passage ?

18 an account of Indian National
Congress's support to the working-class
movement.

(2) The passage is a critique of Gandhi’s
role in Indian movement for
independence.

(3) The passage hails the role of Gandhl in
India’s freedom movement.

(4) The author is neutral on Gandhl's role in
India’s freedom movement.

101. The change that the Gandhlan movement

brought among the Indian masaes was

<47 Psychological  (2) Physical
(3) Cultural (4) Technological

Series-D
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washing machines and refrigerators, along with a
dozen other products, have been slashed from
wenty-eight per cent to eighteen per cent. The tax
rsfe%\nﬂo\'nv-i?onmen ly ¥riéndly fuel cell vehicles
has been reduced from twenty-sight per cent to
twelve per cent, and the compensation cess levied
on them dropped. This leaves just about thirty-five
products, including tobacco, automobiles and
cement, in the f_i_lo_lpa.tax.ahb of the GST structure.
% without seml-precious stones, as well as
sanitary napkins that attracted twelve per cent GST,
have been exempted from the -tax altogether.
Several other products have heen placed in lower
tax slabs, including those from employment-
intensive sectors such as carpets and handicrafts.
On the services front, too, there are
important tweaks and  clarifications. Overali,
v industry and consumers may consider these rate
cuts, largely on products and services of mass use,
as a stimulus to drive consumption ahead of the
festive season. Whichever way one looks at it, the
GST Council's 28" meeting has significantly altered
the course of the nearly 13-month-old tax regime.
The Mpact of these changes on product
prices and consumption demand will be visible
soon, but the government's confidence in such a
rate reduction gambit indicates it is now comfortable
with revenue yields from the GST.
Estimates of revenue losses from these rate cuts
vary widely, but Iit's too early to worry about the
Impact on macro fiscal numbers. If implemented
well, the revenue lost could be offset by higher
consumption that may lead to more investments
over time. Moreover, improvements in compliance
can be expected from the Council's decision to
fyrther simplify Paperwork for sm:!l__ i’ﬁ medium
m%?mjut there are WO major concams. First,

19

GET IT ON
Google Play

alleged that not all of the changes and rate cuts
were placed on the agenda. For a tricky tax that is
still a work in progress, distrust between the Centre
and the States would make further rationalisation
difficult. Such friction must be avoided in a system
in which the States have so far worked
in tandem with the Centre.

102. Which of the following goods are exempted
from GST ?
(1) Carpets
(2) Cement
~—=43=All Rakhis with precious stones
(4) Sanitary napkine

103. What makes further rationalisation of QST
system difficult ?
(1) Lack of compliance
c@:ﬂlstmtt between the Centre and the
States
(3) Complexity in tax structure
(4) Anti-profiteering action

104. What is the consequence of starting new
GST rates from July 27 ?
~1—Companles may not have enough time
to rework pricing strategies.
(2) Revenue from the taxes will be
decreased

(3) Simplified paperwork for small and
medium enterprises.

(4) Reduced conflict between Centre and
State.

105. The Goods and Services Tax Council has
announced a reduction In the tax rates for
over________ goods.

(1) 32 (2) 35
(3) 85 428

108. The tax rate on environmentally friendly fuel
. cell vehicles has been reduced to
(1) 10% (@) 28%

@) 18% A 12%
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entire period since the dawn of civilisation, a study
has found. The study published in the joumnal
“Sclence”, aims to give a global overview of Eartn's
temperatures over the past Eleven thoueand three
hundred years - a relatively balmy perlod “known as
the K Holocene that began after the last major ice age
ended and encompasses all of recorded human
civilization. Their data (complled by studying such
things as Ice cores, fossils and ocean sediments)
looked back over a much longer era than previous
research, which went back 1,500 years.

Sclentists say It Is further evidence that modom-da;y
global warming isn't natural, but the result of rising
carbon dioxide emissions that have rapidly grown
since the Industrial Revolution began roughly Two
hundred and fifty years ago. Solentists say that if
natural factors were et governing the climate, the
Northern Hemisphere would probably be destined to
freeze over again in several th _thousand_years.
Instead, sclentists believe the enormous Increase in
greenhouse gases caused by lnduaulallutlon will

almost certalnly prevent that.
Shaun Marcott, a & geologist at Oregon State

Unlvorolty. says global tomperatum are warmer
than about 75 percant of anything we've seen over
the last Eleven thousand years or 80. The other way
to look at that is, 25 percent of the time since the last
ice age, it's been warmer than now. It's taken just
hundred years for the average temperature to
change by 1.3 degrees, when It took 5,000 years to
do that before. By the end of the century, climate
warming models predict an additional increase ) of 2
to 11.5 degrees, duotolargoquantiﬂesolcarbon
emisslons, the study noted.
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108. When did the Holocene begin ?
(1) Before the major ice Age
(2) Before the Industrial Revolution
(3) After the Industrial Revolution
%’Aﬂer the major lo.u Age

109, Additional increase of temperatures s due to
(1) hydrogen emigsions .
k2 carbon emissions
(3) fossils
(4) Ice age

110. Wh_ll was the data for the research study
based on ?

(1) A global overview of earth's
temperature.

(2) Records of tompomiuro in the northem
Hemisphere.

alysis of ice cores, fosslls and ocean
sediments,

(4) Number of storms and ocean currents.

111. The earth’s temperature has Incressed
quickly since
(1) 1500 years ago
(2) The Holocene
A The Industrial revolution
(4) The Northern hemisphere
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any price for an elite education to their
children.

Conclusions :
I All parents these days are very well off.

Il.  Parents have an obsessive passion for a
perfect development of their children
through good education,

(1) Neither | nor Il follows.

(2) Only conclusion | follows.

(3) Only concluslon Il follows.

(4) Either | or Il follows.
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JOFgor  @dHyd Tavres)
&DBHD SPSoHD HB HAYO.
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between India and Pakistan, Mr. Acharyulu
takes leave from his office. Mr. Acharyulu is
in office today.

Conclusions :

l.  There is no match between India and
Pakistan today.

Il. Mr. Acharyulu always goes to his office
except on India-Pakistan match days.

(1) Neither I nor Il follows.

(2) Only conclusion | follows.

(8) Only conclusion Il follows.

(4) Either | or Il follows.
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(1) LI S0aren 98580159.
(2) 18050 SMSH ©HI0NOA.
(3) I 8080 S @00,
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80 the aemand 1or INaigenous Truits has been
decreased,

Courses of Action :

. To heip the Indigenous producers of
fruits, the government should impose
high import duty on these frults, even if
these are not good quality.

Il. The fruit vendors should stop selling
imported fruits so that the demand for
Indigenous fruits would be increased.

(1) Both | and Il follow
(2) Only | follows -

(3) Only li follows

(4) Neither | nor Il follow
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/m/ 1357 S™H ©HBBR0S.
- (3) I3MSED 9030908,
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day or face termination orders from service.
Two of them had submitted their resignations
by that evening.

Conclusions :

I.  The next day, third manager would also
rasign.

Il. The boss would terminate his sarvices
next day.

(1) Neither | nor Il follows.

(2) Only conclusion | follows.

(3) Only conclusion |l follows.

(4) Either | or Il follows.
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seversly damaged due to cyclone and it
caused a burden on rehabilitation work.

Caurses of Actlon :

I. Paople of hill area should be shifted to other
safer places.

Il. State Government should ask for more
financlal support from Central
Government,

(1) Both | and il follow

(2) Only | foliows

(3) Only Il follows

(4) Neither I nor Ii follow
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& ranway 18vel Grossing Tty Peopie aiea wWnen
a bus carrying them collided with a running
train.

Courses of Actlen ;-

I.  The train driver should be immediately
suspended for negligence on his part.

Il.  The driver of the bus should be punished

for negligence on his part.

Both | and Il follow

Only | foliows

(3) Only il follows

(4) Neither | nor |l follow
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;r;;;l-oyus for increasing productivity and

profitabiiity.

Assumptions :

. Training is an essential component of
productivity.

Il. Profitability and productivity are
supplementary to each other.

(1) Both | and Il are implicit.

(2) Only assumption | is implicit.

(8) Only assumption Il is implicit.

(4) Either | or Il is implicit.
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University has launched a number of
Innovative courses for the better future of its
students,

Assumptions :
. These courses may attract students.

ll. Osmania University is conscious about
the future of students.

(1) Both | and Il are implicit.

(2) Only assumption | is implicit,

(3) Only assumption Il is implicit.

(4) Either I or Il is implicit.
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legally in india 7
Arguments :

| Yes. Because strikes hamper production
and create artificial scarcity of essential
goods.

Il No. Because the workers will lose the right
of expression and would be subjected to
managerial debates.

(1) Both | and H are strong.

(2) Only argument | is strong.

(3) Only argument |l is strong.

(4) Either |l or ll is strong.
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school at the age of 5 or so.
Assumptions :

| At that age the child reaches appropriate
level of development and Is ready to learn.

Il The schools do not admit children after six
years of age.

(1) Both | and Il are implicit.
(2) Only assumption | is implicit.
(3) Only assumption Il is implicit.
(4) Either! or Il is implicit.
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Distribution System' in Indla ?
Arguments :

. Yes. Protectionism Is over, everyone
must get the bread on hig/her own.

. Yes. The poor do not get any benefit
because of corruption,

(1) Nelther I nor Il is strong.

(2) Only argument | is strong,

(3) Only argument Il is strong.

(4) Either! or Il Is strong.
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kidnappers of political figures, a proper
course of action ?

Arguments :
I Yes. The victims must be saved at all cost.

. No. It encourages the kidnappers to
continue the blackmailing activities.

(1) Both I and Il are strong.

(2) Only argument | is strong.

(3) Only argument Il is strong.

(4) Nelther I nor Il is strong.
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Assertion (A) :india is known as g
democratic country.

Reason (R) : India has its own constitution.
(1) Alsfalse but R is true,

(2 BothAandHaratrueandeetho
corroct explanation of A,

(3) BomAandRaretruamelaNOTthe
correct explanation or A!

(4) AlstruebutRis falge,
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(1) (A) 5BSS s, (R) DDA,

AT (A () & Bodk 583D 55605 (R),
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Assertion (A) : Water is essentlal for life,

Reason (R) : It is formed using three parts of
hydrogen and one part of oxygen.
(1) Aisfalse but R Is true,

(2) Both A and R are true and R is the
correct explanation of A,

(3) BolhAandRaretmemehNO‘rmo
correct explanation of A.

(4) Als true but R is false.
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127.

128,

129.

130.

@ R
Rama bought a new chair for 20% discount,
Had Rama got no discount, Rama would
have paid ¥ 350 more. How much did Rama
pay for the chair 7

S &8 830 20% AR08 &5y 4,
a8 I 0:0% Ad.0¢5

(1) T1,400 (2) 22,100

(3 1750 AT 1,050

What day will be the 81* day from today, if
today Is Monday ? :

(1) Sunday (2) Friday

(3) Monday (4) Wednesday

& O SSHado WONIWONS, & &ay
D04 81 & B2 & ardo @)oo 7

(1) «da80 L HE>s0

(3) FHhas0 _ @ 20080

Find the correct number in the following in the
place of 7',

OG0 (7) o FOTDYS P
QORI A0

13 48 57

15 128 |37 42

17_124 |2 ?

M 28 @ 2z @27 (4) 28

A triangle hag three sides as 5 cm, 8 cm and

9 om. What is the area of that triangle
(approximately) ?

(1) 20em2(2) 15em?(3) 23 em?
&8 (82020 By 2hassven 5 0., 8
W0, 8 o.%.ex 7
Q) Brerso o (Crorym) ?
(1) 20 Doy (3) 15042
(3) 23 oAy (4) 18 D052

132,

133. The

A 2,150 Srerhy

EEEL%'L Play

BT TR VI NE executive,
Reason (R)

of its plans,

(1} A is false but R Is trye.

(2 BolhAandFIaretruoandRIsthe
correct explanation of A

(3) BothAandRaretruebutRlsNOTme
Correct explanation of A_

(4) A I8 true but R is falge,
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A 500 metres lon? train with 90 kmﬁ: speed
Crosses a bridi N 90 seconds. Wi t i the
length of the bridge 7

51 2,150 m {2; 1,500 m

3) 1,750m 4) 1,850m

500 &S PBY Ko 2.8 Ben Kocaso
90 8.2, Foe* 2.8 SOBID 90 DEJS
o8, 6 308y DST0es ?
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138. "Find the corvert numbo‘rl%!mﬂdlou(ng In the MD LA ®E @
place of ‘7, 138. Which of the following combinations of
DT80 (?) PRoS* HoBSHBS B colour - person and subject is correct ?
Sowsd $msod, N 2 Bsnoonomcs
;.i— fe. %2 Y (3) Pink-F-History
35 2% 38 /'é, (4) Orange-C-Commerce
) 47 36 G | & 1508 o8 Sotbd - S¢8 - K)QS&) o
(1) 4 ) 28 (3 (@) 34 DOAUrHO BB 7
Q:No. 136 to 140 : Read the following Information (1) deo-D-JEarans)
carefully and answer the questions given below : Moo—D-érgﬁa)ﬁg.)
SO\MMA.B,C,O,E.FMGH!}W;M (3) DOS-F-2r
courses among Gompu: m m History, 4) >8oz-C-g8)
notneeenaﬁlylnmomordor.Eadumoowlemhavo 138 Who Is studying Commerce 2
. liking for a different colour red, blue, green, pink, orange, 505 DS T & 7
. omyandyollow.notnmamyhmaamom.mm (1 E A A @3 ¢ 4) B
Sy Com omales. A lee r The e Lot | R ¢ following is the group of females 7
iy ane To Who_stuces 800 S D Hikarirs
Commeroe, likes grey colours and is a female, E, who o 00 T3S 2 Sdarirain idree 7
T sisterof F, studies Mathematics and likes pink colours G (DABE (2) BOFAIBEF (4)AEF
studies Physics and Iikes red colour. F, the wife of C 141, Find the corect letters in the following in the
mﬂmwmmm.emmwwcm places of 7.
orange, the one who likes blue studies Economics. 7% (7) Psos %0 ) dBS
136 - 140 ; 1155 m,)'s M; U‘Lﬁéﬂ' 05.0'6& 5ORS0A.
A2 oW o8  as)  whes ADHN,VH, 2, ?
304 : Mvae@E 12 m/xTM (4) V,N
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POSITION O boy-5 with respect to boy-3 7

rIODIeM Figures / Dasang Heérex : (1) Thirdtoleft  (2) Second to rignt
(3) Second to left (4) Third to right
FP X %H\ 1 DOA 8 25850 H80Y Homgen DAY 8
DO 2rendy 2.8 DETE) 2O by
0|0 8 SPH S0 TS o e
THSRT YD, 235 2PN, 6, 75 s
De5geS, 15 arendy; 88, 5% s
7| 7| * D35S’ Sy, 38 armdg. 78
y 2PeNAE IBSNE) ST P05, 8%
Answer Figures / S3megre Hareyn : 2P0k, 43 2reodd SABE Soris
+ l AlT 474. I 5{“ PS0S S . 5 ey, 38
ﬂ 2rend Syars 88 AT ?

(1) 4 (2)(2)1 ((g; 2 (2) 3 (1) 8D (58 & S0
145. Choose the alternative which Is closely %géfgagg@?‘ g'gfé‘

resembles the' mirror image of the given > (8935 p

combination, (4) o8 (2% Srd o

; 149. S the following arrangement of letters
Bod adyd Jodirro Sk &y amharacters carefully and answer the

D8DordE  vd SiST™ &od question.

(OB 5S7) QIR EDAS0A. #6BGQ@IL73HA%ODFKEBJQ1*

1AN sAﬁJeQ;SZOPS 2. St Oebeul\ l\f,.Br‘;:fva,that is equal to AB ?

3. SHAEMOST 4 ISOMEAME | 0B aB)S sEoe, Mo emoss

M4 @1 @2 @3 fuse = B B L
- RASTTS0 ovahHoA.

146, r('ir;?oaetml‘igurewhic:h ie difforent from the 3%52?&'—73““%0”“8“’ .

1808 BS’ D) DS D830 D& 7 B% = LK sanad A 8 ZDE H3m3$0 ?
5 4 3 3 (1) Q% (@ EK (3) OF  (4) KF
1 X4 3 X2 [ 42 | 4N 150. P, Q,R, S, T, U are seated in a straight line
2|3 5|1 s\ | 4 facing North. R is third to the right of Uand Q
sits second to the right of R. S sits to the
P L e e 8 e
- 0 @ A ' (3) B “4) C in?he middle oP the linep'?rsons "

147, Chc:ose the figure which is different from the P.Q R ST, Uen 28 SHses &S0
rest. y Q5D Y by, R, U sy
500 8BS DS S 5630 DB ? 08 DHS JrGS PSS O, R & HF

N M N N BRS Bol PIoS” srdHywyd. P &
DcCicuc }F{C 2L D B6HS 243D S sy, 808
v N ot N TES" D 206 SHIS* PO SO KHeseS
A By (©) (0) Sr®)T) S ?
MDD "2 A @B @c (h SR @ sa_+rUa @ as
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9. Rough work should be done only in the space |9, EEms@os® Seranods Pros® Smod D 39
provided for that purpose in the Question Paper | 5 wax, S8 KOS Sa) Sito, SHmers SEnd
Booklet. No loose sheet of paper will be allowed 3
into the Examination hall, 63 T 260 Th LRDIoSED.

10. Do not mark answer choices on the Question 10. 57 Sored’ ssrorre Kotgdiatio Asore
Booklet. Violation of this will be viewed seriously. <B76e3 5%

11. In case of any discrepancy between English and 118 oo 5T SWo sond b Benld, qoé!\
Telugu Versions of the questions (in Bilingual v,

Sood” 5§.56‘ &)
Paper), English Version of the guestion shall be 3@%@&) ﬂob-\ ‘5!5_5 &é%&
iossd & Boel SED $8Kea5"8 AoSlechi.

12. Use of Calculators, Mathematical Tables, Log [12. 385 & sdmdes, raarees Swd), of
Books, Pagers, Cell Phones or any other electronic why, Heby 1f P85y dov O g8 .‘)oﬁ;b!
gadgets Is strictly prohibited. SRHOW GBdErhosto Augo.

13. The candidate should write the Booklet Series and |13. 72058 & 5')6‘ SwOUSWGS 8 .s&gm R )
Sign in the space provided in the Nominal Rolls ROCLRED womwaﬁég 6&‘)5‘-‘5&6&’:
while ensuring the Bio-data printed against his/ | (¥S@o Bw, b8 T3d &6 & ode
WP Rame is colfbet Siroawosnds foos’ oob Soito Adtnd.

14. No candidate should leave the examination hall |14 &g Ty S50 D ety egd wror 38 KA
until completion of examination time. 289 3@63'«‘03 DS

15. Before leaving the examination hall, the candidate |15, :65350550 385 1A Hrod exaveh 3;3 Snoth
should handover the OMR Answer Sheet to the B8 OG5 OMR HIros O adedess
Invigllator, falling which action will be taken for f "
malpractice. &350 W:’VDD' mm‘:’.w‘&é"

8ots o0 S8 .
(Continued on back cover page.)
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‘l’ YYIIVED WIw Main 11Tl ivyw. m .ll' (=182l -1) PICEB U’ UMR wc‘a akooa a‘oww aom
of OMR sheet, except in the space provided
o8 $eronods :g»ooé' 5D g»ooé‘
for the purpose. W
TN, ;

(li) Writes irrelevant matter, including the (1) ;565;; WIF B0 Yowogo & oo,
religlous symbols, words, prayers or any =
communication whatsoever, in any place of - . R M S b
the OMR Answer Sheet. 8o O 300 FAPTTYT HTW GO
orhsigond,
(iil) Uses other than Blue/Black Ball Point Pen (i) aau'em DoSeros oy /q:S & Sonoet
to darken the circles. B
'b.\‘xho.\‘o KD 385 b.\‘)aom AIAPACISI,

(iv)  Forgetting to bubble the Test Booklet Series (iv) enB3e5 bk o M?&o&‘» e§ofl Sabesc

or bubbling multiple Test Booklet Series HOONonS Bor .5 S enEDe"
Codes or Hall Ticket No. other than a_llotted - A st o
to him/her. 5383

efof SHs,

(v) Wrong/erroneous/incomplete bubbling of (V) RIPES DWW 5)E03) S/p™ /
circles or using v or X in the circles. = - .
eSogrgor Jobss' ds v do X Sou!

(vi) Using of whitener on the Answer Sheet. Kol Symes’ Abss

(vi) RS> Sos” g boo (Jmb)s:
{vii) [If attempts any type of tampering (rubbing

the circles with chalk ‘powder/scratching RoDiSS,
the circles with razors etc) on the OMR (vil) SSrers o Symose oEOD DubE
Answer Sheet. Gogero, &8 Aabro Soed S50
Fo)dgond

(viii) Adopts any method of malpractice. (vill) © D53 35r8 @50 Sge esoododsd

18. No correspondence will be entertained in this m.gbwsqqoaxgbwmm
matter by the Commission, if the Answer Sheet of Sorerosso Aaherstan ) Scahndr, &
the candidate is invalidated/rejected due to the & £%358 O
e A JAN0d” & AEIS JoEHdoYoL.
LDDIOIGED.

19. The digital copy of OMR Answer Sheets will be 19;3655;:;%2;3 ©000 ©g5EHo OMR Sargrs SEve

made available in the Commission’s website Bty &S6E sheo, abd 3‘21305 5 Soa?
immediately after completion of the Image

Scanning. S5 DS pe58 esqd:ere.»é' GO,
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Group-1V Services notified vide Commission’s Notfn N0.10/2018, Junior Assistants in Telangana
State Road Transport Corporation, notified vide Commission’s Notfn No.11/2018, Bill Collectors in
Greater Hyderabad Municipal Corporation vide notfn no.17/2018 and for various posts in Telangana

State Beverages Corporation Limited vide notfn no.18/2018
PAPER-II-SECRETARIAL ABILITIES

PAPER CODE-40318 (TELUGU MEDIUM) & PAPER CODE - 40418 (URDU MEDIUM)
FINAL ANSWER KEY - SERIES-D

Q. NO.| ANSWER| Q. NO.| ANSWER| Q. NO.| ANSWER | Q. NO.| ANSWER | Q. NO.| ANSWER | Q. NO. | ANSWER
1. 1 26. 3 51. 1 76. 2 101. 1 126. 3
2. 3 27. 4 52. 1 77. 1 102. 4 127. 1
3. 3 28. 1 53. 1 78. 3 103. 2 128. 2
4. 4 29. 1 54. 4 79. 2 104. 1 129. 3
5. 2 30. 1 55. 2 80. 4 105. 3 130. 1
6. 1 31. 4 56. 2 81. 4 106. 4 131. 4
7. 4 32. 4 S7. 4 82. 4 107. 3 132. 3
8. 4 33. 1 58. 2 83. 4 108. 4 133. 2
9. 3 34. 4 59. 2 84. 1 109. 2 134. 4
10. 3 35. 2 60. 4 85. 2 110. 3 135. 4
11. 4 36. 2 61. 2 86. 4 111. 3 136.] 1 &4
12. 1 37. 3 62. 3 87. 2 112. 3 137.1 2& 4
13 1 38. 3 63. 1 88. 4 113. 2 138. 1
14. 4 39. 1 64. 3 89. 4 114. 4 139. 4
15. 1 40. 4 65. 4 90. 3 115. 4 140. 3
16. 1 41. 1 66. 4 91. 1 116. 2 141. 4
17. 3 42. 3 67. 3 92. 1 117. 3 142. 3
18. 4 43. 3 68. 3 93. 1 118. 2 143. 2
19. 1 44. 1 69. 4 94. 1 119. 1 144, 4
20. 3 45. 3 70. 2 95. 3 120. 1 145. 3
21. 3 46. 4 /1. 1 96. 4 121. 2 146. 3
22. 3 47. 4 72. 3 97. 3 122. 1 147. 2
23. 4 48. 4 73. 3 98. 3 123. 1 148. 1
24. 3 |49 3 |74 1 99| 2 |124 3 |149.] 1



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

	Template for PYP PDFs - Acrobat PDF - 1st page - Black.pdf
	Blank Page




